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Yo
™ EXERCISE 15F

1  Write the converse and inverse for:

a If bx—2=13, then x=3.
(a) If =3 then 5z — 2 =13.
if 5x-2#13,then X#3

d If a figure is a parallelogram, then its opposite sides are equal in length.

a figu

ure has opp sides equal 1n length, then the

1HguIc 15 d palauclugi‘ai‘ﬂ.

Ifafigure is notapar, then then opp sides are not =

3 Write down the contrapositives of these statements:
a All rose bushes have thorns.

ame as:
If a plant is a rose bush, then it has thorns.

Contrapositive:
If a plant does not have thorns, then it is not a

rose bush
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¢ No good soccer player has poor kicking skills.

Same as:

If a soccer player is no good, then they have poor
kicking skills.

contrapositive:
If a soccer player does not have poor kicking
skills, then the player is not a bad player.

e If a person is fair and clever then the person is a doctor.

Contrapositive:

If a person is not a doctor, then the person is not
fair nor clever.
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5 Write down the contrapositive of:

b xzi1sanumberendingin2 = 2z 1seven

if x is odd, then x is not a number ending in 2.

pg 504 15C..... 3¢

3 Use deMorgan’s properties to find the negation of :

¢c < —1 or x>7
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What would be the issues with
setting up a truth table for the
following compound proposition?

p V(M)
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Teuth Tables n N

will also be set up in a standard way

P19 |v p V(3A)
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Monday Tuesday Wednesday Thursday Friday
12 13 14 15 16

No School A

3-D Geometry problem
Logic Day 4- Logic Day 5- Review) | currency exchange practice

Take Home Analysis of #1

Quiz on:
Logic Sequence 1 Arithmetic
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practice

19 20 22 23
Sequence 2 \ Sequence 3 Finance
Geometric No School
Seq 4 No School
Thanksgiving
3-D Geometry problem Turn in all Assignments
26 27 28 29 30
MockExam Paper 2 | pstectoneforpopert | Last Day of Trimester

Question #3 and #4
MockExam Paper

Analyze questions 3 & 4 Questions #5 and #6 AAAAAAAANANAN AN -Review Session Info
-Project Strategy
Analyze questions 5 & 6 22 -Questions

-Brain Breaks

Assignment:

Logic Assignment #4




